Worksheet for the spreadsheet “Income and substitution effects”

All of the questions below should be answered by changing the numbers in the eight shaded cells in the spreadsheet.  If you choose an inappropriate number, a warning message will appear on the spreadsheet.  Since these warnings are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangle, a comment will appear, with information about what is in that cell.

Choose values for the index on cider (in cell C3) (between 0.3 and 0.7 should give the easiest results to see), the price of cider and the old price of jeans (cells A3 and A5), and the consumer’s income (cell A8). 

What is the price of cider? __________

What is the old price of jeans? ___________

What is the income? _____________

The spreadsheet will automatically give you the quantities of cider and jeans consumed (cells A10 and B10) and the resulting utility (cell C10).

How much cider is consumed? __________________

How many pairs of jeans are consumed? _______________

What is the level of utility? __________________

Now choose a new price for jeans (cell A7) – it can be higher or lower than the old price.  Don’t make it too different (more than double or less than half) or it will be hard to see what’s going on.  What is the new price? ________________

Will the new budget line be steeper or less steep than the original one? _________________

Now type “y” under “show budget line?” (cell A12) – was your prediction correct?

Do you expect to buy more or fewer pairs of jeans? _____________

Now type “y” under “show actual purchases?” (cell A14) – was your prediction correct?

How many pairs of jeans did you buy (cell B16)? ______________

Will the imaginary budget line be to the left or the right of the new budget line? ___________

Will it cut the horizontal axis to the left or the right of where the original budget line does? 

Now type “y” under “show imaginary Budget Line?” (cell A19) – were your predictions correct?

How much would the original purchases (cells A10 and B10) have cost at the new prices? ______

What is the income level for the imaginary budget line (cell A21)? ___________

Is this more or less than your previous answer? _______________

Why is it different? _______________

What utility does the consumer get with the imaginary purchases (cell C24)? ______ 

What proportion of the total change in consumption (from F23 to G24) is due to the substitution effect? __________

What proportion is due to the income effect? _______________
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